
F-1S
PARTS LIST





CONTENTS
1. Housing components (1)................................................................................................ 1

2. Housing components (2)................................................................................................ 3

3. Line crossing mechanism.............................................................................................. 5

4. Casing mechanism.......................................................................................................... 7

5. Lower spindle mechanism group.................................................................................. 9

6. Spindle and needle thread lifting unit......................................................................... 11

7. Pin post mechanism..................................................................................................... 13

8. Press foot mechanism.................................................................................................. 15

9. Upper finish line drive mechanism.............................................................................. 17

10. Down hook drive mechanism..................................................................................... 19

11. Main gear drive control mechanism.......................................................................... 21

12. Differential gear drive control mechanism................................................................ 23

13. Thimble sheet and feeding device driving mechanism........................................... 25

14. Main gear and differential gear adjusting plate mechanism................................... 27

15. Lubricating mechanism.............................................................................................. 29

16. Automatic cutting and loosening mechanism.......................................................... 31

17. Bottom line cutter mechanism................................................................................... 33

18. Electrical type top thread wiper and trimmer mechanism...................................... 35

19. Pneumatic type top air wiper and trimmer mechanism........................................... 37

20. Electromagnetic direct drive lift foot set................................................................... 39

21. Pneumatic type presser foot lefter............................................................................ 41

22. Electromagnetic lower cutter drive mechanism....................................................... 43

23. Pneumatic type bottom trimmer driving mechanism.............................................. 45

24. Wire carrier and nose carrier assembly.................................................................... 47

25. Attachment box........................................................................................................... 49



– 1 –

1. Housing components (1)



– 2 –



– 3 –

2. Housing components (2)



– 4 –



– 5 –

3. Line crossing mechanism



– 6 –



– 7 –

4. Casing mechanism



– 8 –



– 9 –

5. Lower spindle mechanism group



– 10 –



– 11 –

6. Spindle and needle thread lifting unit



– 12 –



– 13 –

7. Pin post mechanism



– 14 –



– 15 –

8. Press foot mechanism



– 16 –



– 17 –

9. Upper finish line drive mechanism



– 18 –



– 19 –

10. Down hook drive mechanism



– 20 –



– 21 –

11. Main gear drive control mechanism



– 22 –

1 JINBF7201101 Main Feed Bar 1

2 JINBF7201102A Main Feed Dog 1

3 JINBF7201103 Main Feed Dog Key 2

4 JINBF7801261 Screw（M3-0.5x8) 2

5 JINBF7201105 Differential Feed Bar 1

6 JINBF7201106 Feed Bar Guide Pin 1

7 JINBF7870125 Screw（M4-0.7x8） 2

8 JINBF7201108 Feed Bar Guide 1

9 JINBF7201109 Main Feed Bar Driving Connection 1

10 JINBF7201110 Driving Connection Bushing 1

11 JINBF7870323 gasket 1

12 JINBF7871221 Screw（M4-0.7x24） 1

13 JINBF7201113 Driving Connection Pin 1

14 JINBF7201114 Sealing Plug 2

15 JINBF7870229 Screw（M4-0.7x4） 5

16 JINBF7201116 Main Feed Rocker Lever 1

17 JINBF7201117 Sealing Plug 1

18 JINBF7201118 Main Feed Rocker Shaft 1

19 JINBF7801169 Sealing Plug 5

20 JINBF7201120 Main Feed Lift Lever Pin 1

21 JINBF7870543 Screw（M6-1x6) 4

22 JINBF7201122 Main Feed Lift Lever 1

23 JINBF7201123 Main Feed Lift Shaft 1

24 JINBF7201124 Main Feed Lift Link 1

25 JINBF7201125 Lever Link (Long) 1

26 JINBF7871104 Screw（M4-0.7x4.5） 2

27 JINBF7201127 Lever Link (Short) 1

28 JINBF7201128 Connecting Rod Link Pin 1

29 JINBF7871121 Connecting Rod Guide(Long) 1

30 JINBF7870542 Screw（M6-1x6) 1

32 JINBF7201132 Main Feed Control Bracket 1

33 JINBF7870503 Screw（M6-1x8) 2

34 JINBF7201134 Feed Eccentric 1

35 JINBF7871107 Needle Bearing 1

36 JINBF7871106 Retaining Ring 1

37 JINBF7201137 Feed Connecting Rod 1

38 JINBF7201138 Feed Connecting Rod Pin 1

39 JINBF7871259 Felt 1

40 JINBF7201140 Sealing Plug 2

41 JINBF7201141 Sealing Plug 2

42 JINBF7201142 Collar 2

43 JINBF7201143 Collar C.Set 2

45 JINBF7201145A Differential Feed Dog 1

46 JINBF7201146 Main Feed C.Set 1

47 JINBF7871242A Differential Feed Dog (Middle) 1

48 JINBF7870735 Screw（M2.6-0.45x5) 1

49 JINBF7201149 Feed Lift Block(Rear) 2

50 JINBF7201150 Feed Dog Bar C.Set 1

51 JINBF7201151 Main Feed Rocker Lever C.Set 1

52 JINBF7201152 Feed Bar Guide C.Set 1

53 JINBF7201153 Main Feed Rocker Shaft C.Set 1

54 JINBF7201154 Main Feed Lift Shaft C.Set 1

55 JINBF7201155 Main Feed Lift Lever C.Set 1

56 JINBF7201156 Main Feed Lift Lever Pin C.Set 1

57 JINBF7201157 Feed Eccentic C.Set 1

58 JINBF7201158 Feed Connecting Rod Pin C.Set 1

59 JINBF7201159 Feed Lift Connectiog Rod C.Set 1

60 JINBF7201160 Main Feed Rocker Lever C.Set 1

61 JINBF7201161 Driving Connection Pin C.Set 1

NNOO CCOODDEE NNAAMMEE QQttyy



– 23 –

12. Differential gear drive control mechanism



– 24 –



– 25 –

13. Thimble sheet and feeding device driving mechanism



– 26 –



– 27 –

14. Main gear and differential gear adjusting plate mechanism



– 28 –

1 JINBF7871145 Screw （M6-1x8.5，M4.5-0.5x3) 2

2 JINBF7871144 Spring Cap 2

3 JINBF7871143 Tapered spring gasket 2

4 JINBF7201404 Differential Feeding Graduations 1

5 JINBF7801159 Differential Feeding Control Lever 1

6 JINBF7871140 Screw （M4-0.7x14.5) 4

7 JINBF7871141 Spacer 4

8 JINBF7871146 Screw （M5-0.8x8) 4

9 JINBF7871148 gasket 4

10 JINBF7871142 Control Lever Stop 4

11 JINBF7870125 Screw （M4-0.7x8） 2

12 JINBF7201412 Differential Feeding Control Lever Shaft 1

13 JINBF7870221 O-ring 4

14 JINBF7201414 Stitch Length Graduations 1

15 JINBF7201415 Stitch Length Control Lever 1

16 JINBF7201416 Main Feeding Control Lever Shaft 1

18 JINBF7201418 Differential Feeding Graduations C.Set 1

19 JINBF7871123 Spring Cap C.Set 2

21 JINBF7201421 Stitch Length Graduations C.Set 1

1144，，MMaaiinn  ggeeaarraannddddiiffffeerreennttiiaallggeeaarraaddjjuussttiinngg  ppllaattee  mmeecchhaanniissmm

NNAAMMEE QQttyyNNOO CCOODDEE



– 29 –

15. Lubricating mechanism



– 30 –



– 31 –

16. Automatic cutting and loosening mechanism



– 32 –

1 JINBF7871501 Lifter Lever 1

2 JINBF7871502 Lifter Lever Stop 1

3 JINBF7870845 Screw（9/64-40x5.5） 2

4 JINBF7871504 Tension Release Lever 1

5 JINBF7870622 Screw（M4-0.7x14) 1

6 JINBF7871506 Tension Release Block 1

7 JINBF7870214 Screw（M6-1x4） 1

8 JINBF7871508 Tension Release Connecting Plate 1

9 JINBF7870125 Screw（M4-0.7x8） 3

10 JINBF7870706 Screw（M4-0.7x10） 2

11 JINBF7871511 Screw（M4-0.7x4.5) 1

12 JINBF7870363 Thread Eyelet 4

14 JINBF7871514 Collar 1

15 JINBF7870319 Screw（1/8-44x2.6） 7

16 JINBF7871516 Tension Plate C.Set 1

17 JINBF7871517 Tension Release Shaft 1

18 JINBF7871518 Thread Pull-off Eyelet 1

19 JINBF7871519 Thread Pull-off Bar 1

20 JINBF7871520 Swing-Proof Spring 1

21 JINBF7870229 Screw（M4-0.7x4） 3

22 JINBF7871522 Thread Pull-off Hook Unit (One Hook) 3

23 JINBF7871523 Hook 7

24 JINBF7871524 Thread Pull-off Bar Holder 1

25 JINBF7871525 Thread Pull-off Hook Unit (Double Hook) 2

27 JINBF7871527 Lifter Lever C.Set 1

28 JINBF7871528 Retaining Ring 1

29 JINBF7871529 Thread Pull-off Lever 1

30 JINBF7871530 Tension Release Adjusting Screw（M4-0.7x5.5) 1

31 JINBF7871531 Spring 1

32 JINBF7871532A Thread Eyelet Tension C.Set 1

33 JINBF7870102 Screw（M4-0.7x12) 4

34 JINBF7871534 Spacer 4

35 JINBF7871535 Tension Disc Separator 1

36 JINBF7871536 Collor C.Set 1

37 JINBF7871537 Hook C.Set 3

38 JINBF7871538 Hook C.Set 2

39 JINBF7871539 Pull-Off Handle C.Set 1

40 JINBF7870301 Thread Tension Spring Cap (Blue) 3

41 JINBF7870343 Thread Tension Spring Cap (Red) 2

42 JINBF7870302A Tension Spring Dise Support 5

46 JINBF7870306 Thread Tension Spring Retainer 5

47 JINBF7870307 Felt 5

48 JINBF7870308 Tension Disc Separator 10

49 JINBF7870309A Tension Post 5

50 JINBF7870310 Tension Post Ferrule 5

51 JINBF7870317 Thread Eyelet 20

53 JINBF7870313 Thread Eyelet Pipe Stay 1

54 JINBF7870320 Thread Eyelet Pipe (Long) 1

55 JINBF7870321 Conduit (short) 1

56 JINBF7870312 Tension Post Support 1

57 JINBF7870835 Screw（M4-0.7x3） 7

58 JINBF7871104 Screw（M4-0.7x4.5) 1

59 JINBF7871559 Screw（M4-0.7x2.5） 1

60 JINBF7871560 Spring 1

61 JINBF7870368 Thread Eyelet Pipe (Short) C.Set 1

62 JINBF7870369 Thread Eyelet Pipe (Long) C.Set 1

63 JINBF7871563 Thread Pull-off Eyelet C.Set 1

64 JINBF7870372 Needle Thread Tension Spring 3

65 JINBF7870373 Top Cover Thread Tension Spring 1

66 JINBF7870374 Looper Thread Tension Spring 1

NNAAMMEE QQttyy

1166，，  AAuuttoommaattiicc  ccuuttttiinngg  aanndd  lloooosseenniinngg  mmeecchhaanniissmm

NNOO CCOODDEE



– 33 –

17. Bottom line cutter mechanism



– 34 –

1 JINBF7871601 Lower Knife Driving Lever 1

2 JINBF7871602 Screw（M4-0.7x8.5） 1

3 JINBF7871603 Lower Knife Driving Lever Ring 2

4 JINBF7871604 gasket 2

5 JINBF7870203 Screw（M4-0.7x7） 1

6 JINBF7871606 Lower Knife Carrier 1

7 JINBF7871607 Screw（M3-0.5x2.8) 2

8 JINBF7871608 Connecting Plug 1

9 JINBF7871609 Lower Moving Knife 1

10 JINBF7871610 Lower Knife Holder 1

11 JINBF7871611 Upper Fixing Knife Carrier 1

12 JINBF7871612 Screw（M4-0.7x4） 2

13 JINBF7871613 Nut 2

14 JINBF7871614 Knife Guide Lever 2

15 JINBF7871615 Knife Guide Lever Eccentric Ring 2

16 JINBF7871616 Screw（M4-0.7x7） 2

18 JINBF7871618 Upper Knife Carrier Stop 1

19 JINBF7870258 Screw（M4-0.7x4） 2

20 JINBF7871620 Upper Knife Carrier Spring 1

21 JINBF7871621 Screw（M4-0.7x2.7） 1

22 JINBF7871622 Looper Thread Guide 1

23 JINBF7871009 Screw（M3-0.5x3) 2

24 JINBF7201724 Crank Chamber Cover 1

25 JINBF7871625 Screw（M2-0.4x4) 2

26 JINBF7871626 Upper Fixing Knife 1

27 JINBF7871627 Screw（M2-0.4x5.6) 3

28 JINBF7871628 Screw（M2-0.4x10) 1

29 JINBF7871629 Lower Knife Frame C.Set 1

30 JINBF7871630 Upper Fixing Guide 1

31 JINBF7871631 Clamp Spring 1

32 JINBF7871632 Clamp Spring Pressure 1

33 JINBF7871633 Clamp Spring Pressure Holder 1

34 JINBF7871634 Clamp Spring Pressure Adjusting Piece 1

38 JINBF7201738 Cloth Plate (Electrical Type) 1

39 JINBF7870202 Screw（M4-0.7x10） 2

40 JINBF7201740 Lower Knife Holder 1

1177，，BBoottttoomm  lliinnee  ccuutttteerr  mmeecchhaanniissmm

NNOO CCOODDEE NNAAMMEE QQttyy



– 35 –

18. Electrical type top thread wiper and trimmer mechanism



– 36 –

1 JINBF7871701 Wiper Solenoid 1

2 JINBF7871702 Nut 2

3 JINBF7871703 Buffer Spring Bracket 1

4 JINBF7871704 Wiper Bar Guide 1

5 JINBF7871705 Buffer Spring 1

6 JINBF7871706 Solenoid Lever Pin 1

7 JINBF7871707 Screw（M3-0.5x5) 1

8 JINBF7871708 Solenoid Lever 1

9 JINBF7871709 Retaining Ring 1

10 JINBF7870256 Screw（M4-0.7x8） 1

11 JINBF7871711 Wiper Bar 1

12 JINBF7871712 Screw（M3-0.5x4) 1

13 JINBF7871713 Wiper Holder 1

14 JINBF7871714 Wiper 1

15 JINBF7871715 Screw（M2-0.4x2) 1

16 JINBF7871716 Clamp Spring 1

17 JINBF7871717 Solenoid Bracket 1

18 JINBF7871718 Electrical Type Thread Wiper C.Set 1

19 JINBF7871719 Screw (3/32-56×6) 2

20 JINBF7871720 Clamp Spring Pressure Adjusting Piece 1

21 JINBF7871721 Pressure Adjusting Piece Spacer 1

22 JINBF7871722 Fixed Trimming Knife 1

23 JINBF7871723 Screw (3/32-56×8) 1

24 JINBF7871724 Screw (3/32-56×4) 5

25 JINBF7871748 Knife Guide Solenoid C.Set 2

26 JINBF7871726 Clamp Spring Pressure 1

27 JINBF7871727 Clamp Spring Pressure Spacer 1

28 JINBF7871728 Thread Clamp 1

29 JINBF7871729 Knife Guide Bracket 1

30 JINBF7871730 Solenoid 1

31 JINBF7871731 Nut 1

32 JINBF7871732 Washer 1

33 JINBF7871733 Spring Washer 1

34 JINBF7871734 Nut 1

35 JINBF7871735 Movable Trimming Knife 1

36 JINBF7871736 Screw (M2-0.4×4.5) 1

37 JINBF7871737 Movable Knife Holder 1

38 JINBF7871738 ElectricalTypeTopTrimmerC.Set 1

39 JINBF7871739 Wiper Solenoil Terminal 1

41 JINBF7871741 Cable Clamp 1

42 JINBF7871742 Wiper Bar C.Set 1

44 JINBF7871744 Wiper Terminal Rubber Cover 1

45 JINBF7871745 Joint 2

46 JINBF7871746 Washer 2

47 JINBF7871747 Screw (M4-0.7×12) 1

48 JINBF7871748 Pin 1

49 JINBF7871749 Tube (Black) 1

50 JINBF7871750 Electrical Type Thread Wiper 1

51 JINBF7871751 Screw (M4-0.7×8) 1

1188，，EElleeccttrriiccaall  ttyyppee  ttoopp  tthhrreeaadd  wwiippeerr  aanndd  ttrriimmmmeerr  mmeecchhaanniissmm

NNAAMMEE QQttyyNNOO CCOODDEE



– 37 –

19. Pneumatic type top air wiper and trimmer mechanism



– 38 –

7 JINBF7871807 Elbow Connector 2

8 JINBF7871808 Pneumatic Type Movable Knife Holder 1

9 JINBF7871809 Nut 1

10 JINBF7871810 Nut 1

11 JINBF7871811 Pneumatic Type Top Trimmer C.Set 1

13 JINBF7871813 Air Cylinder C.Set 1

14 JINBF7871814 Air Cylinder 1

1199、、ppnneeuummaattiicc  ttyyppee  ttoopp  aaiirr  wwiippeerr  aanndd  ttrriimmmmeerr  mmeecchhaanniissmm

NNAAMMEE QQttyyNNOO CCOODDEE



– 39 –

20. Electromagnetic direct drive lift foot set



– 40 –



– 41 –

21. Pneumatic type presser foot lefter



– 42 –



– 43 –

22. Electromagnetic lower cutter drive mechanism



– 44 –



– 45 –

23. Pneumatic type bottom trimmer driving mechanism



– 46 –



– 47 –

24. Wire carrier and nose carrier assembly



– 48 –



– 49 –

25. Attachment box



– 50 –



– 51 –


	COVER
	CONTENTS
	1. Housing components (1)
	2. Housing components (2)
	3. Line crossing mechanism
	4. Casing mechanism
	5. Lower spindle mechanism group
	6. Spindle and needle thread lifting unit
	7. Pin post mechanism
	8. Press foot mechanism
	9. Upper finish line drive mechanism
	10. Down hook drive mechanism
	11. Main gear drive control mechanism
	12. Differential gear drive control mechanism
	13. Thimble sheet and feeding device driving mechanism
	14. Main gear and differential gear adjusting plate mechanism
	15. Lubricating mechanism
	16. Automatic cutting and loosening mechanism
	17. Bottom line cutter mechanism
	18. Electrical type top thread wiper and trimmer mechanism
	19. Pneumatic type top air wiper and trimmer mechanism
	20. Electromagnetic direct drive lift foot set
	21. Pneumatic type presser foot lefter
	22. Electromagnetic lower cutter drive mechanism
	23. Pneumatic type bottom trimmer driving mechanism
	24. Wire carrier and nose carrier assembly
	25. Attachment box



